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Addition - Year 3

ENd ol Year Expectation;

Add numbers mentally, including a three-digit number and ones, a three digit number and ones, a three-digit number
and tens, a three-digit number and hundreds.

Add numbers with up to three digits, using formal written methods. - begin to use compact column addition to add
numbers with three digits.

Estimate the answer to an addition calculation, using inverse to check.

Sg(;ve addition problems, including missing number problems, using number facts, place value and more complex
adadition.
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Subtraction - Year 3

End of Year Expectation:

Subtract numbers mentally including:

> a three-digit number and ones

> a three-digit number and tens

> a three-digit number and hundreds

Subtract numbers up to three digits using formal written methods.

Estimate an answer to a calculation and use inverse operations to check answers.

NB Ensure that children are confident with the methods outlined in the previous year’s
guidance before moving on.

Year 3 Subtract with 2 and 3-digit numbers
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Multiplication - Year 3

End of Year Expectation:

Recall and use multiplication facts for the 3's, 4's and 8's

Write and calculate mathematical statements for multiplication tables (2,3,4,5,8,10's times tables) including
for two-digit numbers

times one-digit numbers using mental methods and formal written methods.

Solve problems including missing number problems involving multiplication with correspondance problems
in which n objects are

connected to m objects.

Year 3 multiply 2-digit numbers by a single digit number

Introduce the grid method for multiplying 2 digits by 1 digit

Eg. 23 x8:=184

[ X 20
8 160

24

160 + 24 = 184

Demonstrate how the array links to the grid calculation

Children MUST be able to do the following
before moving onto grid methed:

. Partition numbers into tens and units

«  Multiply multiples of ten by a single
digit (Smile multiplication) using their
knowledge of multiplication facts and

times tables.

»  Recall and work out multiplication facts

Link the layout of the grid to an array initially

/

LS

10 i 4

6000001 24

Key vocabulary groups of, lots of, times, array, altogether, multiply, count,

inthe 2,3,45,8 and 10 times tables

multiplied by, repeated addition, column, row, sets of, equal groups, times as
big as, once, twice, three times..,
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n/icl - End of Year Expectation:
D |V|SLO n Recall and use division facts for the 3s, 4s and 8s.

Write and calculate mathematical statements for division
I eal 3 (2,3,4,5,8,10)including 2 digit numbers
divided by a 1 digit number using mental methods.
Solve problems including missing number problems involving division.

Develop fluency in mathematical talk or patter e.g.
" My question is 32 divided by 8.
I know that the inverse will be ?x 8 = 32

Year 3 Divide 2-digit numbers by a single digit

Example without remainder 1
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For larger numbers, when it becomes inefficient 1o count in single multiples, bigger 30x4 =120
Jumps can be recorded using known facts repeated addition 40 + 40 + 40 =120
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10+2=12




